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1. “rough” stem and leaf

119 4

4 7 8 31

78 410 5

1

any example is OK —
2. “rough” stem and leaf

8 1 6 7 4

372059 6 3

2 8 1

ordered stem and leaf

1 9

3 4 7 8

1 2 45 7 8

Key: 1| 4 = 14 kilometres

ordered stem and leaf

311 46 7 8

410 2 3 3 5 6 79

o1 2 8

any example is OK —

Key: 3 | 1 = 31 minutes

3. “rough” stem and leaf

39 7 8

41 07 31

740 3 8 4

2

ordered stem and leaf

013 78 9

011347

0 3 3 447 8

2 5

any example is OK —

Key: 3 | 2 = 32 SMS messages

4. “rough” stem and leaf

ordered stem and leaf

119 7 3 113 79
2/5 81 6 2 9 3 21 2 3 5 6 8 9
312 0 8 310 2 8
any example is OK — | Key: 1| 3 = 13 passengers
E®R0 stem and leaf (2 answers) SRS Learning Limited



